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COMMERCE AND ACCOUNTANCY (Paper - 1)
ﬁufﬁam;?nwd%] [arfirham 3ieh : 200
Time Allowed : Three Hours] [Maximum Marks : 200

Fomami: (i) @ wei § o ome v Rl E W R o
gl 8 B9 2
(ii) T @UE d F9 8 FH Q T F T H gL, A
U JeHi % IR i

(iii) T T F H= # Fuifa 37 3ifha g |
(iv) |t Y % 376 q9H § |

Specific Instructions : (i) There are total eight questions in two Sections
printed in both Hindi and English.

(i) Answer five questions, selecting at least two
questions from each Section.

(iii) Marks are given against each of the question.

(iv) All questions carry equd/l marks.
@vug - 31/SECTION - A

1. (a) Aremasi & fomn T wve T @ 1w e s #
.}/}\/maaﬁgqmmﬁm:ﬂm‘sh 15

“Accounting is not possible without conventions”. Elucidate different
conventions of accounting and describe their inter-relationships.
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/?%ﬂ?ﬁamﬁ 1039 ¥ fore w1t i @ w1 ugt o | 98 il iR,
agg?gwmﬁaﬁuﬁra¢m$ﬁx3ﬁﬁ$ngﬁa?%ﬂ%fﬁﬂaﬂ:§mnf%mmTHﬂqaﬁ€FﬁWQ
5,000/-%., feda = & forw 9,000/-%. @9 =72 & awi & fo7w 12,000/-%.31
forera arferm ok & wfd o7 1 (T) &9 2t @ | foreft oft ad o gl Wi
3T 2 91 § Suferfiad it s ghdt € | 31 feHsR I THI B aet 5 aui &

foTu 3euTea 33y o

3 A1 |

2015 - 3,000 2018 - 15,000

2016 - 7,000 2019 -18,000

2017 - 11,000

31T i Foof i gl § v @ dan B | 15

[ndian Coal Company took a mine on lease for 10 years. According to the
terms of the lease, the company is to pay one rupee per ton as Royalty
with a minimum rent of Rs. 5,000 /- for the first year, Rs. 9,000/- in the
second year and thereafter Rs. 12,000/- per year merging into royalty
ofRs. 1 (one) per ton. Shortworkings of any year is recoverable over the

two years after accruing of shortworkings. The output for the 5 Sf—gars

ending 31* December, has been as under :
Production in tons :

2015 - 3,000 2018 - 15,000
2016 - 7,000 2019 -18,000
2017 - 11,000

Prepare necessary Accounts in the books of Indian Coal Company.

Wﬁqﬁﬁaﬂ?%ma’mwﬁﬁﬁaaﬁﬁq | 7% Hd 70 B 3T w
Wmmwﬁmﬁﬁm%ﬁaﬁ?ﬁmﬁmwﬁﬁww
$ifse

I 10

Distinguish between hire purchase system and instalment system. Give

proforma entries with assumed figures for two years assumin gthatyou
have purchased a refrigerator on hire purchase system.
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(a) & % 3w @ f s o gt 6 ugfa 2, 9 6 s whew, 72
it s el # aftafda s 8, we-wam & afaefia a9 2 i e
H QWA R |7 38 FY A ferd=e Aifor | 15

Itis said that “Cost Accountingis a system of foresight and not a post-mortem

examination, it turns losses into profits, speeds up activities and eliminates

wastes”. Discuss this statement.

(b) fereror & 3 srafirt (31-3-2019, 30-6-2019) i fd 24 e
AT fed 5T u uiters o3 s | 15
7 wE e
31-3-2019 30-6-2019
(%.) (8.)

ERCER TPt 72,000 98,000
BRIIEED 12,000 12,000
et |t 36,000 49,000
N J SHT-HREH 750 750
LENEES 1,000 1,000
Y = 9,000 12,500
T 2,000 2,000
e fehrn 1,500 1,500
ST FH 30,000 41,000
PREHI H=d 3,000 4,500

1,67,250 2,22,250

¥ 31 Iguien # 3enfed 27 12,0007 16,000 FHT: 3 |

35/Commerce and Accountancy-1 3 PT.O.
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- ing the
From the following particulars, prepare a Cost-Sheet sho*v\!mp;:}l(_9
comparative cost per ton for each of the two (31-3-2019 and 30-6-2 ?]

periods :
Three months ended
31-3-2019 30-6-2019
(Rs.) (Rs.)
Productive wages 72,000 98,000
;. Administration 12,000 12,000
( Raw materials 36,000 49,000
Taxes and Insurance Factory 750 750
Light and water 1,000 1,000
Direct expenses 9,000 12,500
Depreciation 2,000 2,000
Factory rent 1,500 1,500
a Unproductive labouy 30,000 41,000
Factory repairs 3,000 4,500
1,67,250 2,22,250

The tonnage produced in the two quarters were 12,000 and 16,000
tons respectively.

Mmmﬁ%#%waﬁmammwﬁmw shifore T 3o
/ﬁ'ﬂﬁ wd Bl ot ECIEE! 10
Explain the direct material cost method of absorption of overheads and
also state its advantages and disadvantages.

35/Commerce and Accountancy-I 4
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3.(a) R T R, 3 s A e e R fen it 5
3w T F W R e T | v 6w

35/Commerce and Accountancy-I 5

fraferfiga @ 15
IR ‘wEf T wf Twhm  wwf FTERM
(¥.) (%.) (%.) (¥.)
[T 37T BCE 75,000 1,50,000
(10/-%. @)  2,00,000 2,550,000 wefA 95,000 2,50,000
8% qaiferRR CECAT 50,000 30,000
3191 100/- %. It - 1,50,000 f<mwfeam 35,000 45,000
AT~ @ra 15,000 - U*e 15,000 10,000
T T 10,000 ~ A=A @l - 50,000
10% 9= - 1,00,000 W= fore 5,000 10,000
fafae e 40,000 30,000
< form 10,000 15,000
2,75,000 5,45,000 2,75,000 5,45,000

T .fo1. 3 A FrtE & geafeai v R i I el WO o
iR foram | 367 A . T, F 4auar Il Fwea § F %, {4, % 55Ha
3 (10/-%. aTet) 10% i shfrm i g & < e fopan | ' .5, & g
5 Qaifor 39 % sed § ' %, {1, F 100/- 2. 9 4, 10% geifeepr 39
& e fm | T %50 % e s it % 9t d W %L %
10% 99 10% 4 83 W I F01 | F %.779. F goar swarl s vas
5 HaT 39 % 9ea § F B.04. F 10/-5. a9 6 TWar 739 10% Hiftpm w
TS HaA |

W w A T T w5 % S F v wfafeat Hifv

P.T.0.
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‘A’ Co. Ltd. and ‘B’ Co. Ltd. decided to Amalgamate and a new company
‘C’ Co. Ltd. was established for the purpose. Their Balance Sheet on the

date of amalgamation were as follows :

Balance Sheets

Liabilities ‘A’ Co.Ltd. ‘B’ Co.Ltd. Assets ‘A’ Co.Ltd. ‘B’ Co. Ltd,

(Rs). (Rs.) (Rs.) (Rs.)
Equity shares Building 75,000 1,50,000
of (Rs. 10/-each)2,00,000  2,50,000 Machinery 95,000 2,50,000

8% Preference Sundry

shares of Rs. 100/- debtors 50,000 30,000
each - 1,50,000 Closing stock 35,000 45,000
Profit and Cash 15,000 10,000
LossA/c 15,000 - Profit and

Contingency Loss A/c - 50,000
Reserve 10,000 - Bills

1,00,000 Receivables 5,000 10,000

10% Debentures
Sundry Creditors 40,000 30,000
Bills payable 10,000 15,000

2,75,000 5,45,000 2,75,000 5,45,000
‘C’ Co. Ltd. agreed to take assets and liabilities of both the companies at their
respective book values. It agreed to issue 5 equity shares (of Rs. 10/- each)
of ‘C’ Co. Ltd. for 4 equity shares in A’ Co. Ltd. at a premium 10%. It
agreed to issue 4, 10% preference shares of Rs. 100/- eachin ‘C’ Co. Ltd.
for every 5 preference shares held in ‘B’ Co. Ltd. Debenture holders of
‘B’ Co. Ltd. would receive the 10% debentures in ‘C’ Co. Ltd. at adiscount
of 10%. The equity shareholders of ‘B’ Co. Ltd. would receive 6 equity
shares of Rs. 10/- each in ‘C’ Co. Ltd. for every 5 equity shares held in

‘B’ Co. Ltd. at a premium of 10%.
Pass necessary Journal entries in the books of ‘A’ Co. Ltd. and ‘B’ Co. Ltd.
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(b) TFz-wam Rvew ¥ v TG, b3-aE faaw H dA F@E 7 15
Explain the objects of cash-flow analysis. What are the limitations of
cash-flow statement ?

(c) T FEA F TR0 & 79 1 AU & 7 A Fe ST & S8 ¢ 10
What do you understand by reconstruction of a company ? When does
it become necessary ?

4.(a) FAL & WA 58 h UF TG TS § & T 98 T F 25%
AT S T R | ARG 3o fased iR Tt & 7 ST A% B e
YU FETeR Bl W 2 | G =9 GH Rt gR 9HR I 8 |
31 femm, 2019 F1 7 &9 At ¥ & forw, v F P SRR A | 15
(%)) (%.)
IRfir 9: e I G2 250
Tgfern 11,000 fesra amaeh 500
SRR 1,700 9@l &1 ¥ T =
FIH kg 100 fomn 600
Tohe, fashl 2,650 g 200
WG S WA T AE 20,000 3T 4G 900
AN G & WA T 21,000 3f<m 9w
YYH $EGT $H 999 71 400 TEfaan 13,000
P TEd 0 300 EER 2,000
et Tehg 25 %, fafay wrfte
gfgd M 9UH HATET H T2
EERI 125
31 femmar, 2019 1 9T BF 1ot 99 1 QAT HT SR T A9 I 7@
QAT a1 IITEl @l 41T |
35/Commerce and Accountancy- 7 PT.O.
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Romesh Brothers of Kanpur has a branch at Lucknow to which supplies
goods at cost plus 25%. The branch keeps its own sales ledger and
transmits all cash received to the head office everyday. All expenses are
paid from Head Office.

For the year ending 31*December, 2019 the transactions of the branch
were as follows :

(Rs.) (Rs.)
Opening Balances : Allowances to customers 250
Stock 11,000 Return inward 500
Debtors 1,700 Cheques sent to branch :
Petty cash 100  Rent 600
Cash sales 2,650  Wages 200
Goods sentto branch 20,000  Other expenses 900
Collection on Ledger Closing Balance :

Account 21,000 Stock 13,000
Goods returned to H.O. 400  Debtor 2,000
Bad debts 300 Petty cash including

miscellaneous income of
Rs. 25 not remitted to H.0. 125

Prepare the Branch Trading and Profit and Loss Account and Branch
Account for the year ended 31 December, 2019.

(b) e et ua wEr Frt o i frgn s o fore s e 4 o 3

FA1 7 IR Wl THITRA |
(i) Few & dra
(i) ¥euHd T g, @
(iii) SR -FFoT RN T 7 T AT 1 | 15
35/Commerce and Accountancy-1 8
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How do you compute the following while preparing consolidated Balan.ce
Sheet of Holding company and its Subsidiary company 7 Explain with
illustration :

(i) Cost of control
(i) Minority shareholder interest, and
(iii) Unrealised profit on Inter-company transaction.
() Fraeht v % deme i TR A yum Fatem i g § fore  fon g
e o =1 9| & 7 awEsu | 10
How are the figures in the Foreign Branch Trial Balanceare to be converted

in the Head Office books for the purpose of their incorporations ?
Explain.

@ug - 9/SECTION - B

/
5. () wtafe sfrehariien Sewa & aitfucy &1 vase hife | gt srftepddim
/ R, W AR % ufq 3ars 8 Sefien v foparers st @
el o I & ? 15
Explain the rationals of wealth maximisation objective. How far wealth
maximisation objective is free from the ideological and operationals
opjections raised against profit maximisation ?

(b) eI o T R 7 ST IR0 % AT 36 GHEST Afe GRS
Uehe Fdare Y TRTEHH 2 | T40 g gaahiah (5 year) 15% Fdl &
W 3.352; 16% W 3.274; 17% T 3.199 31K 18% W 3.127 % | 15
What is Internal Rate of Return ? Discuss with the help of a suitable
example if the cash inflows of a project are even. The present value
factor at the end of the 5" year at the discount rate of 15% is 3.352,
16% is 3.274,17% is 3.199 and at 18% it is 3.127.

() arsifém =1 & 7 ush ieifires e % gfeeshivn § sae 1 wew @ 7 10
What is capital budgeting ? What is its importance from the point of
view of an industrial concern?

35/Commerce and Accountancy-I 9 P.T.O.
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wﬂwéﬁ%maﬁww&% » Gl 3iEi & T E@ICE!

i 15
e A AIEA | -
What are the assumptionin the valuation of equity shares ? Explain the
dividend valuation model of equity shares.
(b) e fir rereen # HOTT 1 g Ak HE Bl 8 " 3@ o <l ST
15

aﬁrﬁqmmﬁmﬁﬂ-@ﬁmﬁmﬁ@ﬁm |
“Dgbentures have great significance in Corporate Finance”. Elucidate

this statement and point out thmof Debenture Finance.

Mﬁﬂﬁ?ﬁmﬁvﬁrﬂmﬁm’%nﬁaaﬁﬁmﬁﬁ?m 10

Discuss the significance of ‘Retained earning’ in Corporate Financing.
LA A

7.(a) mﬁaaﬁ%%ﬁABC%.ﬂﬁﬁmaﬁrﬂsﬁﬂ@ﬁ%aﬁmﬁﬁﬁ@
3 | o ferveism dehATe G 5020 3T HEE Gl A

ffre 78 2020 IR foska =. 6.27T@ 2 | 15
L 2015 2016 2017 2018 2019

faspa (2. @) 5 6 5 7 2

Frasfia gt 2 4 8 5 1

(2. G)

The figures for sales and working capital of ABC Ltd. for the last five
years are given below. With the help of Depression Analysis Technique,
estimate the working capital required for the year 2020 when sales is
estimated at Rs. 6.2 lakh.

Year 2015 2016 2017 2018 2019
Sales (Rs. in lakh) 5 6 5 7 2
Working Capital 2 4 8 5 1
(Rs. in lakh)
35/Commerce and Accountancy-l 10
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(b) “af? ST v ) srarra R, A av A e A i | g
¥ o 58 o 1 o e 7 e % o ) it ¥ forg #-FH 8
39T AT H A ST 8 7 15
“Ifyou are in need of money, look to your inventory at first”. What is the
significance of this statement for a finance manager ? What measures

are used to assess the size of inventory ?

(c) wifwd & wsiftr faftrs werm & el wa sfiawi &1 3o Hifer | 10
Discuss the various types of costs and risks associated with receivables.
)| TR G99 T AN T YR 7 B | 30 Y Hl g FHAST | 15

‘Trading on Equity is a double-edged weapon'. Explain this statement
with the help of suitable examples.

Mﬁt«ﬁw%g@aﬁwﬁ@maﬂtmaﬁﬁaﬁa@ | 58
7 1fe g SAM % forg 3um st dif 15
Discuss the chief features of the Indian Capital Market and explain its
deficiencies. Give suggestions to make it more useful.

()X & AT AT o NG qvd 791 2 7 THeh! Hiig! bl GHeTEd | 10
What are the essentials of Walter’s Model of Dividend ? Explain its
shortcomings.
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